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//Array.h #ifndef CARL_SEN_ARRAY _H #define
CARL_SEN_ARRAY_H #include gt. #include gt. using

std::out_of range. using std::ostream. templategt. class Array {
protected: unsigned int size. T* data. public: /00 O O O
Array(unsigned int _size=0). Array(unsigned int count, T datal, ...).



//00 0 0O O Array(const Arraygt.amp. operator=(const
Arraygt.amp. operator[](unsigned int index). const Tamp.
operatorlt.(ostreamit. Tamp. array). //getd setl] [ [J [ unsigned
Int getSize() const { return size. } void setSize(unsigned int newsSize).
}. template gt. Arraygt..:Array(unsigned int _size):data(new

T[ size]), size(_size) { for(unsigned int i=0. ilt.typename TIt. Tlt.size.
1) { data[i]=va_arg(ap, T). } va_end(ap). } template gt.
Arraygt..:Array(const Arraygt.lt.size. 1) { data[i]=array.data[i]. } }
template gt. Arraygt.It. Tlt. Tamp. array) { if(It.size. 1) {
data[i]=array.data[i]. } } return *this. } template gt. TIt. Tgt.=size) {
throw out_of range("invalid index"). } return data[index]. }
template gt. const Tlt. Tgt.=size) { throw out_of range("invalid
index™). } return data[index]. } template gt. void
Arraygt..:setSize(unsigned int newSize) { T* const newData=new
T[newsSize]. const unsigned int Min=sizelt.Min. 1) {
newData[i]=data[i]. } Odelete[] data. data=newData. size=newsSize.
template gt. ostreamlt.amp. os, const Arraygt.lt.array.size. i) {
oslt.array.data[1]lt."\t". } return os. } #endif 100Test LI O OJ LI [0 OJ
Jodododododododod www.100test.com
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